Trigonometry (For right triangle with sides Adjacent, Opposite, and Hypoteneuse):

Sin(0) = O/H Cos(0) = A/H Tan(6) =0/A  H2=07+A2 Acircle = T2
Sin(30°) = Cos(60°) = ¥%  Sin(60°) = Cos(30°) =v/3/2 ~=0.866 Sin(45°) = Cos(45°) =2/2 ~0.707
Sin(0°) = Cos(90°) =0  Sin(90°) = Cos(0°) = 1
Kinematics:
(@)= @=12  FO) =T +Tt+sat?  v(t)? = v, +2a- AF(t)
Newton’s Laws:
ZF =mC_i FAB =_FBA
Forces:
Fz = mg (@ surface) £ = ugFy fe = wFy

2
Fc =ma, = = Fspring = —kx
Work & Energy:
KEprans = imv? AKE = W, PE; = mgh PEgpring = 3 kx?
E=KE + PE AE = W, W =F - AF = |F||AY| cos Opq;

Rotational Motion:
2

0 =s/r ac=v7



